

# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progress Estimate Number	Contract ID	191115-D06	Pay Period Start August 2, 2020 Original Contract Amount \$4,045,518.39	
7	Prime Contracto	orCapital Paving & Construction	, LLCPay Period End August 15, 2020Net Change Order Amount (\$68,640.14)  Current Contract Amount \$3,976.878.25	

Approval Date		By User
August 17, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	ellist2
August 17, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	grahac1
August 18, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2020	November 1, 2020		68.37%

No Milestones Exist for Contract

Contract Total Pay For Estimate No. 7           This Estimate         Previous         To Date           191115-D06         Total Posted Items Pay         \$1,155,622.74         \$1,563,388.52         \$2,719,011.26										
		This Estimate	Previous	To Date						
191115-D06										
	Total Posted Items Pay	\$1,155,622.74	\$1,563,388.52	\$2,719,011.26						
	Gross Item Adjustments	(\$91,589.72)	(\$73,081.92)	(\$164,671.64)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$101.40	\$101.40						
	·		\$1,490,408.00	\$2,554,441.02						
<b>Contract Total Pa</b>	ayable This Estimate:	\$1.064.033.02								

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
J5S3266	0051	2022010	REMOVAL OF IMPROVEMENTS	LS	\$50,927.690	0.074	\$3,768.65			
	0100	2063500	CULVERT CLEANOUT	EA	\$3,555.420	1	\$3,555.42			
	0130	2079909	MISC.MODIFIED LINEAR GRADING CLASS 2	STA	\$406.080	560.5	\$227,607.84			
	0170	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	TONS	\$51.950	16,368.9	\$850,364.36			
	0200	6097000	ROCK LINING	CUYD	\$62.750	409.73	\$25,710.56			
	0390	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$9.700	880.3	\$8,538.91			
	0530	8061005	ROCK DITCH CHECK	LF	\$10.800	2,132	\$23,025.60			
	0540	8061006	ALTERNATE DITCH CHECK	LF	\$9.000	1,098	\$9,882.00			
	0560	8061019	SILT FENCE	LF	\$2.300	1,378	\$3,169.40			
Project J5S32	SS3266 - Total									
Overall - Tota	1						\$1,155,622.74			

#### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3266	0130	MISC.	Overrun			-9.6	\$406.08	(\$3,898.37)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,370.03	(\$2.92)	(\$6,922.62)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,305.25	(\$2.92)	(\$6,733.40)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,971.44	(\$2.92)	(\$5,758.38)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,545.12	(\$2.92)	(\$7,434.04)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,651.9	(\$2.92)	(\$7,745.93)
	0170	BITUMINOUS PAVEMENT	Price		Reference Item Price Adjustment Index	2,709.15	(\$2.92)	(\$7,913.16)

Revision 4/1/2020 Page 1 of 20



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progress Estimate Number
7
Contract ID 191115-D06 Pay Period Start August 2, 2020 Original Contract Amount \$4,045,518.39
Prime Contractor Capital Paving & Construction, LLCPay Period End August 15, 2020Net Change Order Amount \$3,976,878.25

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3266		MIXTURE PG64-22 (BASE)			Adjustment Type applied is FUEL			
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,816.01	(\$2.92)	(\$5,304.38)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material			-13,368.9	\$51.95	(\$694,514.36
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)					\$51.95	\$694,514.36
	0200	ROCK LINING	Overrun			-114.12	\$62.75	(\$7,161.03)
	0200	ROCK LINING	Overrun			-225.21	\$62.75	(\$14,131.93)
	0430	CLASS B-1 CONCRETE (CULVERTS)	Material			-28.4	\$1,498.36	(\$42,553.42)
	0430	CLASS B-1 CONCRETE (CULVERTS)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0012) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	28.4	\$1,498.36	\$42,553.42
	0530	ROCK DITCH CHECK	Overrun			-121	\$10.80	(\$1,306.80)
	0530	ROCK DITCH CHECK	Overrun			-415	\$10.80	(\$4,482.00)
	0530	ROCK DITCH CHECK	Overrun			-61.65	\$10.80	(\$665.82)
	0540	ALTERNATE DITCH CHECK	Overrun			-47	\$9.00	(\$423.00)
	0540	ALTERNATE DITCH CHECK	Overrun			-197	\$9.00	(\$1,773.00)
	0540	ALTERNATE DITCH CHECK	Overrun			-102	\$9.00	(\$918.00)
	0540	ALTERNATE DITCH CHECK	Overrun			-70	\$9.00	(\$630.00)
	0540	ALTERNATE DITCH CHECK	Overrun			-140	\$9.00	(\$1,260.00)
	0540	ALTERNATE DITCH CHECK	Overrun			-130	\$9.00	(\$1,170.00)
	0540	ALTERNATE DITCH CHECK	Overrun			-90	\$9.00	(\$810.00)
	0540	ALTERNATE DITCH CHECK	Overrun			-322	\$9.00	(\$2,898.00)
	0560	SILT FENCE	Overrun			-90	\$2.30	(\$207.00)
	0560	SILT FENCE	Overrun			-47	\$2.30	(\$108.10)
	0560	SILT FENCE	Overrun			-597	\$2.30	(\$1,373.10)
	0560	SILT FENCE	Overrun			-44	\$2.30	(\$101.20)
	0560	SILT FENCE	Overrun			-200.2	\$2.30	(\$460.46)
	0690	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material			-20.9	\$1,498.36	(\$31,315.72)
	0690	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0029) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	20.9	\$1,498.36	\$31,315.72
	0740	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material			-9	\$1,498.36	(\$13,485.24)
	0740	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0030) due to user ellist2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	9	\$1,498.36	\$13,485.24
J5S3327	0930	CONCRETE FOOTINGS, EMBEDDED	Material			-0.1	\$1,799.98	(\$180.00)

Revision 4/1/2020 Page 2 of 20



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progress Estimate Number	<b>Contract ID</b> 191115-D06	Pay Period StartAugust 2, 2020 Original Contract Amount \$4,045,518.39
7	Prime Contractor Capital Paving & Construction	n, LLCPay Period End August 15, 2020Net Change Order Amount(\$68,640.14)
,		Current Contract Amount \$3,976,878.25

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3327	0930	CONCRETE FOOTINGS, EMBEDDED	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0031) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.	0.1	\$1,799.98	\$180.00
Total								(\$91,589.72)

Revision 4/1/2020 Page 3 of 20



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work					
S401(82) and add shoulders			MORGAN	from Versailles city limit to	Route Y						
J5S3327 FAS Resurface J MORGAN				MORGAN	from Route 5 to SME						
Totals by J	lob Numbe	rs									
J5S3266					This Estimate	Previous	To Date				
		Posted Item Pay Gross Item Adjustments Gross Item Pay			\$1,155,622.74 (\$91,589.72) <b>\$1,064,033.02</b>	\$1,054,920.07 \$32,642.13 <b>\$1,087,562.20</b>	\$2,210,542.81 (\$58,947.59) <b>\$2,151,595.22</b>				
	Incent	tive centive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00				
	Liquio	lated Damages Contract Adju			\$0.00 \$0.00	\$0.00 \$0.00 \$87.42	\$0.00 \$87.42				
J5S3327					This Estimate	Previous	To Date				
0000021	Poste	d Item Pay			\$0.00	\$508,468.45	\$508,468.45				
	Gross Item Adjustments Gross Item Pay		Item Pay	\$0.00 <b>\$0.00</b>	(\$105,724.05) <b>\$402,744.40</b>	(\$105,724.05) <b>\$402,744.40</b>					
Incentive					\$0.00	\$0.00	\$0.00				
		entive			\$0.00	\$0.00	\$0.00				
		lated Damages Contract Adiu			\$0.00 \$0.00	\$0.00 \$13.98	\$0.00 \$13.98				

Revision 4/1/2020 Page 4 of 20



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3266, Item 4013000, Project Item Line Number 0170, Material Set 401300096, Material 0401BPPMBB - Plant Mix Bituminous Base, Acceptance Action Generic AspLow is insufficient.	Bitbase is currently being placed and tests will be entered as time allows	ellist2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3266, Item 7034040, Project Item Line Number 0690, Material Set 703404096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	contractor has submitted documents, Modot still needs to enter data	ellist2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3266, Item 7034040, Project Item Line Number 0740, Material Set 703404096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	contractor has submitted documents, Modot still needs to enter data	ellist2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3266, Item 7034041, Project Item Line Number 0430, Material Set 703404196, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	contractor has submitted documents, Modot still needs to enter data	ellist2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3327, Item 9031010, Project Item Line Number 0930, Material Set 903101096, Material 0501CCCOM - Concrete, Commercial, Acceptance Action Generic 0501CCCOM is insufficient.	Modot needs to enter report as time allows	ellist2	Overridden
Estimate Exception Type: Item Overrun: Contract 191115-D06, Contract Project J5S3266, Project Item Line Number 0130, Contract Line Item Number 0130, Item 2079909, Minor Item.	change order will be written	ellist2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191115-D06, Contract Project J5S3266, Project Item Line Number 0200, Contract Line Item Number 0200, Item 6097000, Minor Item.	change order will be written	ellist2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191115-D06, Contract Project J5S3266, Project Item Line Number 0530, Contract Line Item Number 0530, Item 8061005, Minor Item.	change order will be written	ellist2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191115-D06, Contract Project J5S3266, Project Item Line Number 0540, Contract Line Item Number 0540, Item 8061006, Minor Item.	change order will be written	ellist2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191115-D06, Contract Project J5S3266, Project Item Line Number 0560, Contract Line Item Number 0560, Item 8061019, Minor Item.	change order will be written	ellist2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191115-D06, Contract Project J5S3327, Project Item Line Number 0780, Contract Line Item Number 0780, Item 4020520, Minor Item.	change order will be written	ellist2	Acknowledged

Revision 4/1/2020 Page 5 of 20



### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
91115-D06	J5S3266	0001	0040	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$6,799.92	\$6,799.92
		0001	0050	2022010	REMOVAL OF IMPROVEMENTS	1.00	-1.00	0.00	LS	0.00	\$65,927.69	\$0.00
		0001	0051	2022010	REMOVAL OF IMPROVEMENTS	0.00	1.00	1.00	LS	0.59	\$50,927.69	\$30,149.19
		0001	0060	2035000	UNCLASSIFIED EXCAVATION	227.00	0.00	227.00	CUYD	227.00	\$18.50	\$4,199.50
		0001	0070	2063000	CLASS 3 EXCAVATION	42.00	0.00	42.00	CUYD	42.00	\$58.00	\$2,436.00
		0001	0080	2063300	CLASS 4 EXCAVATION	1.00	5.00	6.00	CUYD	6.00	\$203.17	\$1,219.02
		0001	0090	2063400	CLASS 4 EXCAVATION IN ROCK	7.00	-7.00	0.00	CUYD	0.00	\$177.77	\$0.00
		0001	0100	2063500	CULVERT CLEANOUT	1.00	0.00	1.00	EA	1.00	\$3,555.42	\$3,555.4
		0001	0110	2072000	LINEAR GRADING CLASS 2	4.30	0.00	4.30	STA	4.30	\$1,174.99	\$5,052.4
		0001	0120	2079909	MISC.GRAVEL GRADING	1.00	0.00	1.00	STA	1.00	\$1,092.02	\$1,092.0
		0001	0130	2079909	MISC.MODIFIED LINEAR GRADING CLASS 2	1,325.40	0.00	1,325.40	STA	1,335.00	\$406.08	\$542,116.8
		0001	0140	2142000	FURNISHING ROCK FILL	1,436.00	-1,436.00	0.00	CUYD	0.00	\$22.75	\$0.0
		0001	0150	2143000	PLACING ROCK FILL	1,436.00	-1,436.00	0.00	CUYD	0.00	\$12.75	\$0.00
		0001	0160	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	1,143.00	0.00	1,143.00	TONS	111.80	\$40.00	\$4,472.0
		0001	0170	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	18,091.70	0.00	18,091.70	TONS	18,222.23	\$51.95	\$946,644.8
		0001	0180	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	11,807.60	0.00	11,807.60	TONS	0.00	\$60.77	\$0.00
		0001	0190	4071005	TACK COAT	11,643.00	0.00	11,643.00	GAL	0.00	\$2.26	\$0.00
		0001	0200	6097000	ROCK LINING	251.00	250.00	501.00	CUYD	840.33	\$62.75	\$52,730.7
		0001	0210	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$507.92	\$0.00
		0001	0220	6161005	CONSTRUCTION SIGNS	1,604.00	0.00	1,604.00	SQFT	1,138.00	\$6.50	\$7,397.0
		0001	0230	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$100.00	\$0.0
		0001	0240	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	0.00	\$25.00	\$0.0
		0001	0250	6161025	CHANNELIZER (TRIM LINE)	42.00	0.00	42.00	EA	42.00	\$16.00	\$672.0
		0001 0260		6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	3.00	0.00	3.00	EA	3.00	\$150.00	\$450.00
		0001	0270	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$499.99	\$0.0
		0001	0280	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	3.00	0.00	3.00	EA	3.00	\$4,199.95	\$12,599.8
		0001	0290	6162000A		2.00	-2.00	0.00	EA	0.00	\$13,499.84	\$0.0
		0001	0291	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	0.00	1.00	1.00	EA	1.00	\$6,000.00	\$6,000.0
		0001	0300	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	44.00	-40.00	4.00	EA	4.00	\$499.99	\$1,999.9
		0001	0310	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	4,950.00	-4,950.00	0.00	LF	0.00	\$16.00	\$0.0
		0001	0320	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	4,950.00	-4,500.00	450.00	LF	0.00	\$8.00	\$0.0
		0001	0330	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$332,597.24	\$249,447.9
		0001	0340	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.0
		0001	0350	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	137,908.00	0.00	137,908.00	LF	0.00	\$0.17	\$0.0
		0001	0360	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	132,326.00	0.00	132,326.00	LF	0.00	\$0.17	\$0.0
		0001	0370	6207001	PAVEMENT MARKING REMOVAL	24,992.00	-21,607.00	3,385.00	LF	3,385.00	\$0.25	\$846.2
		0001	0380	6208063	TEMPORARY PAVEMENT MARKING	36,124.00	-32,071.00	4,053.00	EA	4,053.00	\$0.17	\$689.0
		0001	0390	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,035.00	0.00	1,035.00	SQYD	880.30	\$9.70	\$8,538.9
		0001	0400	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	691.30	0.00	691.30	STA	0.00	\$11.50	\$0.0
		0001	0410	6269909	MISC.OPTIONAL SHOULDER RUMBLE STRIP	1,039.20	0.00	1,039.20	STA	0.00	\$11.50	\$0.0
		0001	0420	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,844.97	\$2,844.9
		0001	0430	7034041	CLASS B-1 CONCRETE (CULVERTS)	38.60	-10.20	28.40	CUYD	28.40	\$1,498.36	\$42,553.4
		0001	0440	7061030	REINFORCING STEEL (CULVERTS)	8,080.00	-1,730.00	6,350.00	LB	6,350.00	\$2.03	\$12,890.5
		0001	0450	7250315A	15 IN. PIPE GROUP B	35.00	0.00	35.00	LF	35.00	\$58.00	\$2,030.0
		0001	0460	7250336A	36 IN. PIPE GROUP B	3.00	5.00	8.00	LF	8.00	\$210.00	\$1,680.0

Revision 4/1/2020 Page 6 of 20



### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

RACT No	oject Cate	egory	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POS To Date (See re
10.01	.0.		140.	Code		Quantity	Order	Quantity		Approved Qty		generated date
06 J5S3	3266 00	01	0470	7261015	15 IN. PIPE GROUP A	74.00	0.00	74.00	LF	74.00	\$72.00	\$5,32
	00	101	0480	7320015A	15 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	6.00	0.00	6.00	EA	6.00	\$310.00	\$1,86
	00	101	0490	7320036A	36 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$874.99	\$8
	00	01	0500	8051000A	SEEDING - COOL SEASON MIXTURES	19.80	0.00	19.80	ACRE	0.30	\$2,049.98	\$6
	00	01	0510	8061003	SEDIMENT TRAP EXCAVATION	157.10	0.00	157.10	CUYD	0.00	\$20.00	
	00	01	0520	8061004	SEDIMENT TRAP ROCK	157.10	0.00	157.10	CUYD	0.00	\$62.50	
	00	01	0530	8061005	ROCK DITCH CHECK	4,189.00	0.00	4,189.00	LF	5,101.65	\$10.80	\$55,0
	00	01	0540	8061006	ALTERNATE DITCH CHECK	524.00	0.00	524.00	LF	2,164.00	\$9.00	\$19,4
	00	01	0550	8061016	SEDIMENT REMOVAL	555.10	0.00	555.10	CUYD	0.00	\$22.88	
	00	01	0560	8061019	SILT FENCE	5,236.80	0.00	5,236.80	LF	6,215.00	\$2.30	\$14,2
	00	10	0570	6061060	MGS GUARDRAIL	488.00	0.00	488.00	LF	0.00	\$24.00	
	00	10	0580	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	3.00	0.00	3.00	EA	0.00	\$2,999.97	
	00	10	0590	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	4.00	0.00	4.00	EA	0.00	\$3,649.96	
	00	110	0600	6062200A	BRIDGE ANCHOR SECTION, 6.5 FT. POSTS (SAFETY BARRIER CURB) (ROADWAY AND REHABILITATION WORK ONLY)	1.00	0.00	1.00	EA	0.00	\$2,399.97	
	00	10	0610	6062303	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	1.00	0.00	1.00	EA	0.00	\$599.99	
	00	10	0620	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	7.00	0.00	7.00	EA	0.00	\$2,899.97	
	00	10	0630	6066630	GUARDRAIL ANCHOR, ROCK FACE	1.00	0.00	1.00	EA	0.00	\$3,599.96	
	00	140	0640	9031250A	U-CHANNEL POST, 3 LB	1,312.00	0.00	1,312.00	LF	0.00	\$20.00	
	00-	140	0650	9035069A	SHF-FLAT SHEET FLUORESCENT	228.00	0.00	228.00	SQFT	0.00	\$20.00	
	00-	140	0660	9039901	MISC.ADJUST EXISTING SIGNS	1.00	0.00	1.00	LS	0.00	\$29,999.65	
	00	70	0670	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	10.50	0.00	10.50	CUYD	10.50	\$1,498.36	\$15,7
	00	70	0680	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	2,490.00	0.00	2,490.00	LB	2,490.00	\$2.03	\$5,0
	00	71	0690	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	20.90	0.00	20.90	CUYD	20.90	\$1,498.36	\$31,
	00	71	0700	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	3,910.00	0.00	3,910.00	LB	3,910.00	\$2.03	\$7,9
	00	71	0710	7134000	BRIDGE GUARDRAIL (THRIE BEAM)	94.00	0.00	94.00	LF	0.00	\$253.96	
	00	172	0720	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	8.30	0.00	8.30	CUYD	8.30	\$1,498.36	\$12,4
	00	172	0730	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	2,220.00	0.00	2,220.00	LB	2,220.00	\$2.03	\$4,
	00	73	0740	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	9.00	0.00	9.00	CUYD	9.00	\$1,498.36	\$13,4
	00	73	0750	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	2,180.00	0.00	2,180.00	LB	2,180.00	\$2.03	\$4,4
	00	01	5001	6169901	MISC.Misc. Traffic Control Setup and Flagging	0.00	1.00	1.00	LS	1.00	\$37,181.65	\$37,
	00	01	5002	1046002	VALUE ENGINEERING	0.00	41,030.20	41,030.20	EA	41,030.20	\$1.00	\$41,0
	00	01	5003	7250315A	15 IN. PIPE GROUP B	0.00	51.00	51.00	LF	51.00	\$110.25	\$5,6
	00	01	5004	7250318A	18 IN. PIPE GROUP B	0.00	31.00	31.00	LF	31.00	\$165.90	\$5,
	00	01	5005	7250321A	21 IN. PIPE GROUP B	0.00	10.00	10.00	LF	10.00	\$189.00	\$1,8
	00	01	5006	7250324A	24 IN. PIPE GROUP B	0.00	9.00	9.00	LF	9.00	\$190.31	\$1,7
	00	01	5007	7250330A	30 IN. PIPE GROUP B	0.00	11.00	11.00	LF	11.00	\$197.13	\$2,
	00	01	5008	7250342A	42 IN. PIPE GROUP B	0.00	12.00	12.00	LF	12.00	\$225.85	\$2,
	00	01	5009	6044012	PIPE COLLAR, TYPE B	0.00	3.00	3.00	EA	3.00	\$551.25	\$1,6
	00	01	5010	2022010	REMOVAL OF IMPROVEMENTS	0.00	1.00	1.00	LS	1.00	\$3,097.50	\$3,0
	00	01	5011	6169901	MISC.Misc traffic control for pipe work	0.00	1.00	1.00	LS	1.00	\$5,040.00	\$5,0
	00	01	5012	2149910	MISC.Furnishing Rock Fill (tons)	0.00	1,674.00	1,674.00	TONS	1,674.00	\$22.75	\$38,0
	00		5013	2149910	MISC.Placing Rock Fill (tons)	0.00	1,674.00	1,674.00	TONS	1,674.00	\$12.75	\$21,3
	3327 00		tal Value 0760	Posted to D 2022010	ate as of Report Generated Date  REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,399.97	\$2,310,2 \$2,3
0000	00	101	0770	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	2.00	0.00	2.00	TONS	0.00	\$169.22	

Revision 4/1/2020 Page 7 of 20



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
15-D06	J5S3327	0001	0790	4071005	TACK COAT	7,476.00	0.00	7,476.00	GAL	5,621.00	\$2.26	\$12,703.46
		0001	0800	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$507.92	\$0.00
		0001	0810	6161005	CONSTRUCTION SIGNS	1,189.00	0.00	1,189.00	SQFT	820.75	\$6.00	\$4,924.50
		0001	0820	6161009	FLAG ASSEMBLY	16.00	0.00	16.00	EA	4.00	\$20.00	\$80.00
		0001	0830	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	0.00	\$16.00	\$0.00
		0001	0840	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$17,962.33	\$17,962.33
		0001	0850	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	12.00	0.00	12.00	LF	0.00	\$35.00	\$0.00
		0001	0860	6206000C	$4\ \mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	84,860.00	0.00	84,860.00	LF	0.00	\$0.17	\$0.00
		0001	0870	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	76,176.00	0.00	76,176.00	LF	0.00	\$0.17	\$0.00
		0001	0880	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	594.00	0.00	594.00	SQYD	373.00	\$14.69	\$5,479.3
		0010	0890	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	175.00	0.00	175.00	LF	175.00	\$30.00	\$5,250.0
		0010	0900	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,999.97	\$11,999.8
		0010	0910	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	1.00	\$1,199.99	\$1,199.9
		0010	0920	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	3.00	0.00	3.00	EA	3.00	\$2,899.97	\$8,699.9
		0040	0930	9031010	CONCRETE FOOTINGS, EMBEDDED	0.10	0.00	0.10	CUYD	0.10	\$1,799.98	\$180.00
		0040	0940	9031250A	U-CHANNEL POST, 3 LB	648.00	0.00	648.00	LF	648.00	\$22.00	\$14,256.0
		0040	0950	9031280	2.5 IN. PSST POST - 12 GA.	16.00	0.00	16.00	LF	16.00	\$40.00	\$640.00
		0040	0960	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	3.00	0.00	3.00	LF	3.00	\$60.00	\$180.0
		0040	0970	9035004A	SH-FLAT SHEET	9.00	0.00	9.00	SQFT	9.00	\$28.00	\$252.00
		0040	0980	9035069A	SHF-FLAT SHEET FLUORESCENT	108.00	0.00	108.00	SQFT	108.00	\$30.00	\$3,240.0
	Project J	5S3327 - To	otal Value	Posted to D	ate as of Report Generated Date							\$508,468.4
5-D06 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$2,818,693.7

Page 8 of 20 Revision 4/1/2020



### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5S3266

umber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Comments Distance
0051	2022010	REMOVAL OF IMPROVEMENTS	8/14/20	8/17/20	0.04	LS	headwall and partial wingwall removals	11.390	It	11.390	rt
				8/17/20	0.04	LS	pavement obliteration just north of seals rd on shoulder	3.45	rt	3.485	rt
100	2063500	CULVERT CLEANOUT	8/12/20	8/12/20	1.00	EA	water jetted culvert clean	5.531			
130	2079909	MISC. GRADING	8/3/20	8/4/20	63.40	STA	6336 ft for 63.4 sta	7.9	It	6.7	It
			8/4/20	8/4/20	63.40	STA	6336 ft for 63.4 sta.	6.7	rt	7.9	rt
			8/5/20	8/5/20	68.60	STA	6864 ft for 68.6 sta	5.4	rt	6.7	rt
			8/6/20	8/7/20	68.60	STA	6860 ft for 68.6 sta	6.7	It	5.4	It
				8/10/20	47.50		4750 ft for 47.5 sta.	5.4		4.5	
				8/12/20	47.50		4750 ft for 47.5 sta	5.4	rt	4.5	rt
			8/11/20		63.40		6336 ft for 63.4 sta	4.50		3.3	
				8/12/20	-107.29		inadvertently paid this location twice on 7-24 2020,	14.186			lt .
			0/12/20	8/12/20	-57.11		previous payment was weeks 3 and 4 exclusions for roads, entrances and bridge	1.094		14.186	
				8/12/20	6.30	STA	additional for guardrail	3.885	It	3.885	rt
							2.7 sta 1.2 sta 1.2 sta 1.2 sta				
							9.6 total sta paid for guardrail areas on project				
				8/12/20	63.40		6336 ft for 63.4 sta	4.50		3.3	
				8/12/20	68.60		6864 ft for 68.6 sta	3.3		2.0	
				8/12/20	68.60	STA	6864 ft for 68.6 sta	3.3	rt	2.0	rt
			8/13/20	8/13/20	47.80	STA	4780 ft for 47.8 sta	2.0	It	1.094	lt
				8/13/20	47.80	STA	4780 ft for 47.8 sta	2.0	rt	1.094	rt
70	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	8/5/20	8/5/20	2,370.03	TONS	Route W Day 1 Bitbase	7.6	rt	11,6	rt
			8/6/20	8/7/20	2,305.25	TONS	Bitbase shoulder	10.4	It	7.0	It
			8/11/20	8/12/20	131.44	TONS	Route Y to Im 13.97 It	14.186	It	13.97	It
				8/12/20	1,840.00	TONS	11.6 to route Y end of project	11.6		14.186	
			8/12/20	8/12/20			bitbase left side	13.97		10.4	
			8/13/20	8/13/20	2,651.90		bitbase placement	7.0		3.1	
			8/14/20	8/17/20			3.1 It to 1.094 for 1578 tons	3.1		2.65	
					, ,,,,,,,,		1.094 rt to 2.65 rt for 1131.15 tons				
			8/15/20	8/17/20	1,816.01	TONS	bitbase placement	2.65	rt	5.0	rt
200	6097000	ROCK LINING	8/10/20	8/12/20	114.12	CUYD	2 locations close to each other 10.634 to 10.568 It 10.459 to 10.506 It inslope repair along creek with type 2 rock lining used 1.2 conversion as slope varies in and out and it was agreed to use conversion for this location tons placed for both locations today 136.94 at 1.2/cy for 114.12 cy	10.568	It	10.459	R
			8/11/20	8/12/20			Im 3.3 lt used agreed 1.2 tons/cy conversion 30.92 tons for 25.77 cy	3.3	It		
				8/12/20			5.691 to 5.637 rt -154.73 tons for 128.94 cy 5.422 to 5.372 lt - 169.08 tons for 140.9 cy used agreed 1.2 tons /cy conversion	5.691	rt	5.372	lt .
390	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8/14/20	8/17/20			Beginning of project at Versailles on Route W 30 x 25 for 83.33 sy	1.094			
				8/17/20			end of route W at route Y tie in 25 x 30 for 83.33 sy	14.186			
				8/17/20	107.55	SQYD	Route W3(golden beach rd.) tie in with Route W. Additional work from plan 121' along route W and Route W3 width at butt joint 16' 60.5 x 16 for 107.55 sy	8.9	rt		
				8/17/20	120.00	SQYD	Old route 5 and Route W tie in around curve Additional to plan 8 x 135 for 120 sy	1.4	rt		
				8/17/20			Bridge RO605 north tie in 50 x 25 for 138.88 sy	10.874			
				8/17/20			bridge RO605 south tie in 50 x x25 for 138.88 sy	10.909			
				8/17/20			Route AA tie in with Route W. 125' along route W and Route AA width at butt joint 30' 62.5 x 30 for 208.33 sy	10.698			
-0-	0004	ROCK DITCH CHECK	8/3/20	8/17/20	6.00	LF		7.621			
30	8061005			8/17/20	8.00	LF		6.730			
30	8061005					LF		7.664			
30	8061005			8/17/20	8.00				l i		
30	8061005			8/17/20	8.00	LF		7.670			
30	8061005			8/17/20 8/17/20	8.00 8.00	LF LF		7.676	L		
30	8061005			8/17/20	8.00	LF			L		
30	8061005			8/17/20 8/17/20	8.00 8.00	LF LF		7.676	L L		
30	8061005			8/17/20 8/17/20 8/17/20	8.00 8.00 8.00	LF LF		7.676 7.794	L L		
30	8061005			8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00	LF LF LF		7.676 7.794 7.821	L L L		
30	8061005			8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00	LF LF LF LF		7.676 7.794 7.821 7.855	L L L		
30	8061005			8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00	LF LF LF LF		7.676 7.794 7.821 7.855 7.877	L L L L		
30	8061005			8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00 8.00 9.00	LF LF LF LF LF		7.676 7.794 7.821 7.855 7.877 7.643			
30	8061005			8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00 9.00	LF LF LF LF LF		7.676 7.794 7.821 7.855 7.877 7.643 6.741			
30	8061005		8/4/20	8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00 9.00 10.00 14.00			7.676 7.794 7.821 7.855 7.877 7.643 6.741 7.764 6.730			
30	8061005		8/4/20	8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00 9.00 10.00 14.00 6.00			7.676 7.794 7.821 7.855 7.877 7.643 6.741 7.764 6.730 7.329	L L L L L L L R		
530	8061005		8/4/20	8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00 9.00 10.00 14.00 6.00			7.676 7.794 7.821 7.855 7.877 7.643 6.741 7.764 6.730 7.329 7.114			
330	8061005		8/4/20	8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20	8.00 8.00 8.00 8.00 8.00 9.00 10.00 14.00 6.00 7.00			7.676 7.794 7.821 7.855 7.877 7.643 6.741 7.764 6.730 7.329 7.114			
330	8061005		8/4/20	8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/4/20 8/4/20 8/4/20	8.00 8.00 8.00 8.00 9.00 10.00 14.00 7.00 7.00			7.676 7.794 7.821 7.855 7.877 7.643 6.741 7.764 6.730 7.329 7.114 7.285 7.303			
530	8061005		8/4/20	8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/4/20 8/4/20 8/4/20 8/4/20	8.00 8.00 8.00 8.00 9.00 10.00 14.00 7.00 7.00			7.676 7.794 7.821 7.855 7.877 7.643 6.741 7.764 6.730 7.329 7.114 7.285 7.303 7.538			
530	8061005		8/4/20	8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/17/20 8/4/20 8/4/20 8/4/20	8.00 8.00 8.00 8.00 9.00 10.00 14.00 7.00 7.00			7.676 7.794 7.821 7.855 7.877 7.643 6.741 7.764 6.730 7.329 7.114 7.285 7.303			

Revision 4/1/2020 Page 9 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

		pelow this line is supplemental to the Estima										
_ine ımber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	Station/ Log	Offset/ Distance	Log	Offset/ Distance	Comments
								Mile		Mile		
0530	8061005	ROCK DITCH CHECK	8/4/20	8/4/20	8.00			7.041				
				8/4/20	8.00			7.063				
				8/4/20	8.00			7.083				
				8/4/20	8.00			7.124				
				8/4/20	8.00			7.231				
				8/4/20	8.00			7.318				
				8/4/20	8.00			7.318				
				8/4/20	8.00			7.464				
				8/4/20	8.00			7.473				
				8/4/20	8.00			7.528 7.554				
				8/4/20	8.00			7.609				
				8/4/20	8.00			7.638				
				8/4/20	8.00			7.653				
				8/4/20	8.00			7.656				
				8/4/20	8.00			7.761				
				8/4/20	8.00			7.785				
				8/4/20	9.00			7.430				
				8/4/20	9.00	LF		7.548				
				8/4/20	9.00			7.552				
				8/4/20	10.00	LF		6.934				
				8/4/20	10.00	LF		7.011				
				8/4/20	10.00			7.114				
				8/4/20	10.00	LF		7.121				
				8/4/20	10.00			7.504				
				8/4/20	10.00	LF		7.789	R			
				8/4/20	10.00	LF		7.828	R			
				8/4/20	12.00	LF		7.75	R			
				8/4/20	12.00	LF		7.87	R			
				8/4/20	14.00	LF		7.342	L			
				8/4/20	14.00	LF		7.464	L			
				8/4/20	17.00	LF		7.791	R			
				8/4/20	18.00	LF		7.205	R			
				8/4/20	18.00	LF		7.342	R			
				8/4/20	20.00	LF		7.368	R			
			8/6/20	8/16/20	5.00	LF		4.621	L			
				8/16/20	6.00	LF		6.299	L			
				8/16/20	6.00	LF		6.301	R			
				8/16/20	6.00	LF		6.307	L			
				8/16/20	6.00	LF		6.320	L			
				8/16/20	6.00	LF		6.578	R			
				8/16/20	6.00	LF		6.594	R			
				8/16/20	7.00	LF		4.534	R			
				8/16/20	7.00	LF		4.58	L			
				8/16/20	7.00	LF		4.582	R			
				8/16/20	7.00	LF		4.607	R			
				8/16/20	7.00	LF		4.615	L			
				8/16/20	7.00			4.616				
				8/16/20	7.00			6.313				
				8/16/20	7.00			6.335				
				8/16/20	8.00			6.358				
				8/16/20	8.00			6.370				
				8/16/20	8.00			6.379				
				8/16/20	8.00			6.398				
				8/16/20	8.00			6.444				
				8/16/20	8.00			6.460				
				8/16/20	8.00			6.523				
				8/16/20	8.00			6.537				
				8/16/20	8.00			6.542				
				8/16/20	8.00			6.552				
				8/16/20	8.00			6.604				
				8/16/20	9.00			6.503				
				8/16/20 8/16/20	9.00			6.525 6.546				
								6.628				
				8/16/20 8/16/20	9.00			6.628 4.593				
				8/16/20	10.00	LF		4.593 6.646				
			9/7/20	8/16/20 8/16/20	12.00			6.351 5.597				
			011120	8/16/20	6.00			5.614				
				8/16/20	6.00			5.627				
				8/16/20	6.00			5.638				
					6.00			5.638				
								J.JJJ	-			
				8/16/20 8/16/20	6.00			5.674	1			

Revision 4/1/2020 Page 10 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

ine							on of detail, location and quantity of work.					
mber	Item Code	Description	DWR Date	Approval	Quantity Posted	Units	Location	Station/	Offset/ Distance	To Station/	Offset/ Distance	Comments
				Date				Log Mile		Log Mile		
0530	8061005	ROCK DITCH CHECK	8/7/20	8/16/20	6.00	LF		6.082	L			
				8/16/20	6.00	LF		6.247				
				8/16/20	6.00	LF		6.271				
				8/16/20	6.00	LF		6.280				
				8/16/20	8.00	LF		5.445				
				8/16/20	8.00	LF		5.484				
				8/16/20	8.00	LF		5.560				
				8/16/20	8.00	LF		5.620				
				8/16/20	8.00	LF		5.950				
				8/16/20	8.00	LF		5.957				
				8/16/20	8.00	LF		6.059				
				8/16/20	8.00	LF		6.142				
				8/16/20 8/16/20	8.00 9.00	LF LF		6.287 5.787				
				8/16/20	9.00	LF		6.013				
				8/16/20	9.00	LF		6.291				
				8/16/20	10.00	LF		5.531				
				8/16/20	10.00	LF		5.645				
				8/16/20	10.00	LF		5.747				
				8/16/20	10.00	LF		5.982				
				8/16/20	10.00	LF		6.013				
				8/16/20	10.00	LF		6.050				
				8/16/20	10.00	LF		6.070				
				8/16/20	10.00	LF		6.089	R			
				8/16/20	12.00	LF		5.594	R			
				8/16/20	12.00	LF		6.116	R			
				8/16/20	12.00	LF		6.142	R			
				8/16/20	15.00	LF		5.519	L			
				8/16/20	15.00	LF		5.787	R			
				8/16/20	20.00	LF		6.271	L			
			8/10/20	8/17/20	6.00	LF		4.241	L			
				8/17/20	6.00	LF		5.046	L			
				8/17/20	6.00	LF		5.060	L			
				8/17/20	6.00	LF		5.120	L			
				8/17/20	8.00	LF		4.296	L			
				8/17/20	8.00	LF		4.335	L			
				8/17/20	8.00	LF		4.407				
				8/17/20	8.00	LF		4.419				
				8/17/20	8.00	LF		4.930				
				8/17/20	8.00	LF		4.930				
				8/17/20	8.00	LF		5.060				
				8/17/20	8.00	LF		5.120				
				8/17/20	8.00	LF		5.280				
				8/17/20	8.00	LF		5.388				
				8/17/20	10.00	LF LF		4.761				
				8/17/20	10.00			4.967				
				8/17/20	10.00	LF LF		5.258				
				8/17/20 8/17/20	10.00	LF		5.258 5.349				
				8/17/20	10.00	LF		5.349				
				8/17/20	15.00			5.343				
				8/17/20	18.00	LF		4.178				
				8/17/20	18.00	LF		4.664				
			8/11/20	8/17/20	6.00			3.564				
				8/17/20	6.00	LF		3.728				
				8/17/20	6.00			3.741				
				8/17/20	7.00	LF		3.383				
				8/17/20	7.00			3.499				
				8/17/20	8.00	LF		3.441	R			
				8/17/20	8.00	LF		3.571	L			
				8/17/20	8.00	LF		3.586	R			
				8/17/20	8.00	LF		3.674	L			
				8/17/20	8.00	LF		3.680	R			
				8/17/20	8.00	LF		3.756	L			
				8/17/20	8.00	LF		3.771	L			
				8/17/20	8.00	LF		3.784	L			
				8/17/20	8.00	LF		3.794				
				8/17/20	8.00	LF		3.848				
				8/17/20	8.00			3.895				
				8/17/20	8.00	LF		4.156				
								3.595	L			
				8/17/20	10.00	LF						
				8/17/20	11.00	LF		3.321	R			
									R R			

Revision 4/1/2020 Page 11 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

							on or detail, location and quantity or work.	_		_		
Line Number	Item Code	Description	DWR Date	DWR Approval	Quantity Posted	Units	Location		Offset/ Distance		Offset/ Distance	Comments
				Date				Log Mile		Log Mile		
0530	8061005	ROCK DITCH CHECK	8/11/20	8/17/20	16.00	LF		3.609	LR			
				8/17/20	16.00	LF		3.641				
				8/17/20	16.00	LF		3.657				
				8/17/20	16.00	LF		4.102				
			8/12/20		6.00	LF		3.031				
				8/17/20	6.00	LF		3.110				
				8/17/20	6.00	LF		3.698				
				8/17/20	6.00	LF		3.739				
				8/17/20	7.00	LF		3.784				
				8/17/20	8.00	LF		3.029				
				8/17/20	8.00	LF		3.812				
				8/17/20	8.00	LF		3.890				
				8/17/20	8.00	LF		4.250				
				8/17/20	8.00	LF		4.252				
				8/17/20	9.00	LF		3.715`				
				8/17/20	9.00	LF		4.100				
				8/17/20	10.00	LF		3.112				
				8/17/20	10.00	LF		3.185				
				8/17/20	10.00	LF		3.219				
				8/17/20	10.00	LF		3.770				
				8/17/20	10.00	LF		3.881				
				8/17/20	14.00	LF		3.098				
				8/17/20	15.00	LF		4.104				
				8/17/20	16.00	LF		2.984				
				8/17/20	16.00	LF		3.006				
				8/17/20	30.00	LF		4.440				
			8/14/20		6.00	LF		2.073				
				8/17/20	8.00	LF		1.180				
				8/17/20	8.00	LF		1.202				
				8/17/20	8.00	LF		1.494				
				8/17/20	8.00	LF		1.643				
				8/17/20	8.00	LF		1.654				
				8/17/20	8.00	LF		1.754				
				8/17/20	8.00	LF		1.772				
				8/17/20	8.00	LF		1.822				
				8/17/20	8.00	LF		1.849	R			
				8/17/20	8.00	LF		1.850				
				8/17/20	8.00	LF		1.872				
				8/17/20	8.00	LF		1.875				
				8/17/20	8.00	LF		2.000				
				8/17/20	8.00	LF		2.068				
				8/17/20	8.00	LF		2.083				
				8/17/20	10.00	LF		1.466				
				8/17/20	10.00	LF		1.675				
				8/17/20	10.00	LF		1.883				
				8/17/20	11.00	LF		1.916				
				8/17/20	12.00	LF		1.789				
				8/17/20	12.00	LF		1.808				
				8/17/20	14.00	LF		1.829				
				8/17/20	15.00	LF		2.018				
				8/17/20	15.00	LF		2.201				
				8/17/20	17.00	LF		2.051				
				8/17/20	20.00	LF		1.995				
				8/17/20	22.00	LF		2.121				
0540	8061006	ALTERNATE DITCH CHECK	8/3/20	8/17/20	9.00	LF		6.730				
				8/17/20	9.00	LF		6.763				
				8/17/20	9.00	LF		6.786				
				8/17/20	10.00	LF		6.720				
				8/17/20	10.00	LF		6.761				
			8/4/20	8/4/20	8.00	LF		6.854				
				8/4/20	9.00	LF		6.850				
				8/4/20	9.00	LF		6.994				
				8/4/20	9.00	LF		7.041				
				8/4/20	9.00	LF		7.342				
				8/4/20	9.00	LF		7.371				
				8/4/20	9.00	LF		7.499				
				8/4/20	9.00	LF		8.827				
				8/4/20	10.00	LF		6.878				
				8/4/20	10.00	LF		7.031				
				8/4/20	10.00	LF		7.048				
				8/4/20	10.00	LF		7.342				
				8/4/20	10.00	LF		7.429				
				8/4/20	10.00	LF		7.454				
				8/4/20	10.00	LF		7.736				
				8/4/20	10.00	LF		8.889				
								5.503				

Revision 4/1/2020 Page 12 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

		elow this line is supplemental to the Estimat										
Line Number	Item Code	Description	DWR Date	DWR Approval Date		Units	Location	From Station/ Log	Offset/ Distance	To Station/ Log	Offset/ Distance	Comments
0540	9064006	ALTERNATE DITCH CHECK	8/4/20	9/4/20	10.00	LF		Mile 8.923	В	Mile		
0540	8061006	ALTERNATE DITCH CHECK	0/4/20	8/4/20	18.00	LF		7.011				
				8/4/20	18.00	LF		8.867				
			8/6/20	8/16/20	10.00	LF		6.392				
				8/16/20	10.00	LF		6.414	R			
				8/16/20	10.00	LF		6.576	L			
				8/16/20	10.00	LF		6.594	L			
				8/16/20	10.00	LF		6.604	L			
				8/16/20	10.00	LF		6.604				
				8/16/20	10.00	LF		6.646				
				8/16/20 8/16/20	10.00	LF LF		6.670 4.593				
			8/7/20	8/16/20	10.00	LF		5.787				
				8/16/20	10.00	LF		5.787				
				8/16/20	10.00	LF		6.013	L			
				8/16/20	10.00	LF		6.271	L			
				8/16/20	10.00	LF		6.271	R			
				8/16/20	20.00	LF		5.747				
			8/10/20		10.00	LF		4.664				
				8/17/20	10.00	LF		4.664				
				8/17/20 8/17/20	10.00	LF LF		4.764 4.930				
				8/17/20	10.00	LF		4.930				
				8/17/20	10.00	LF		5.060				
				8/17/20	10.00	LF		5.060				
				8/17/20	10.00	LF		5.120	L			
				8/17/20	10.00	LF		5.120				
				8/17/20	10.00	LF		5.258				
				8/17/20	10.00	LF		5.258				
			0/44/00	8/17/20	20.00	LF		4.178				
			8/11/20	8/17/20	10.00	LF LF		3.321				
				8/17/20	10.00	LF		3.381				
				8/17/20	10.00	LF		3.401				
				8/17/20	10.00	LF		3.441				
				8/17/20	10.00	LF		3.481	L			
				8/17/20	10.00	LF		3.493	L			
				8/17/20	10.00	LF		3.510				
				8/17/20	10.00	LF		3.522				
				8/17/20	10.00	LF		3.949				
				8/17/20 8/17/20	10.00	LF LF		4.025 3.441				
			8/12/20		10.00	LF		3.190L	_			
				8/17/20	10.00	LF		3.235	L			
				8/17/20	10.00	LF		4.155	R			
				8/17/20	10.00	LF		4.283	R			
				8/17/20	10.00	LF		4.293				
				8/17/20	10.00	LF		4.316				
				8/17/20 8/17/20	10.00	LF LF		4.370 3.770				
			8/14/20		10.00			1.160				
			5,14,20	8/17/20	10.00	LF		1.243				
				8/17/20	10.00	LF		1.265				
				8/17/20	10.00	LF		1.294				
				8/17/20	10.00	LF		1.35	R			
				8/17/20	10.00			1.375				
				8/17/20	10.00	LF		1.411				
				8/17/20	10.00	LF		1.449				
				8/17/20 8/17/20	10.00	LF LF		1.556 1.589				
				8/17/20	10.00			1.604				
				8/17/20	10.00	LF		1.632				
				8/17/20	10.00	LF		1.643				
				8/17/20	10.00	LF		1.686				
				8/17/20	10.00	LF		1.723				
				8/17/20	10.00			1.772				
				8/17/20	12.00	LF		1.503				
				8/17/20	15.00	LF		1.470				
				8/17/20	15.00	LF LF		1.586				
				8/17/20 8/17/20	20.00			1.202				
					20.00			1.579				
				8/17/20	20.00							
				8/17/20 8/17/20	20.00	LF		1.597	R			
								1.597 1.622				

Revision 4/1/2020 Page 13 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0560	8061019	SILT FENCE	8/4/20	8/4/20	90.00	LF		7.548	R			Alt. Ditch check as silt fence.
			8/7/20	8/16/20	47.00	LF		5.484	L			
			8/10/20	8/17/20	25.00	LF		5.445	L			
				8/17/20	100.00	LF		5.445	L			
				8/17/20	135.00	LF		5.338	R			
				8/17/20	140.00	LF		4.993	R			
				8/17/20	197.00	LF		4.761	R			
			8/11/20	8/17/20	44.00	LF		3.411	R			
			8/12/20	8/17/20	10.00	LF		4.104	R			
				8/17/20	28.00	LF		3.996	R			
				8/17/20	65.00	LF		4.073	R			
				8/17/20	100.00	LF		4.121	R			
				8/17/20	130.00	LF		4.260	R			
			8/14/20	8/17/20	40.00	LF		1.375	R			Alt. ditch check as silt fence.
				8/17/20	50.00	LF		1.313	г			Alt. ditch check as silt fence.
				8/17/20	50.00	LF		1.325	г			Alt. ditch check as silt fence.
				8/17/20	127.00	LF		1.202	г			

The information below this line are details from Line Item agency views.

No Agency View Details Exist

Revision 4/1/2020 Page 14 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0060	UNCLASSIFIED EXCAVATION	Price		3	Jun 16, 2020	SYSTEM	(\$76.95)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$76.95)	
	Price - Total						(\$76.95)	
0060 -	Total						(\$76.95)	
0800	CLASS 4 EXCAVATION	Overrun	Overrun	4	Jul 1, 2020	SYSTEM	(\$1,015.85)	
				5	Jul 16, 2020	SYSTEM	\$1,015.85	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',203.17000 - 203.17000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0080 -	Total						\$0.00	
0130	MISC. MODIFIED LINEAR GRADING CLASS 2	Overrun	Overrun		Aug 17, 2020	SYSTEM	(\$3,898.37)	
			Overrun - T	otal			(\$3,898.37)	
	Overrun - Total						(\$3,898.37)	
0130 -	Total						(\$3,898.37)	
0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material		7	Aug 17, 2020	SYSTEM	(\$694,514.36)	
				7	Aug 17, 2020	SYSTEM	\$694,514.36	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Price		7	Aug 17, 2020	SYSTEM	(\$47,811.91)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$47,811.91)	
	Price - Total						(\$47,811.91)	
0470	Total						(\$47,811.91)	
0170 -								
0200	ROCK LINING	Overrun	Overrun	4	Jul 1, 2020	SYSTEM	(\$3,055.92)	
	ROCK LINING	Overrun	Overrun	5		SYSTEM SYSTEM		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).
	ROCK LINING	Overrun	Overrun		2020 Jul 16,		(\$3,055.92)	quantity on all previous payment estimates. Price Adjustments of
	ROCK LINING	Overrun	Overrun Overrun - T	5	2020 Jul 16, 2020 Aug 17,	SYSTEM	(\$3,055.92) \$3,055.93	quantity on all previous payment estimates. Price Adjustments of
	ROCK LINING  Overrun - Total	Overrun		5	2020 Jul 16, 2020 Aug 17,	SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96)	quantity on all previous payment estimates. Price Adjustments of
0200		Overrun		5	2020 Jul 16, 2020 Aug 17,	SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96) (\$21,292.95)	quantity on all previous payment estimates. Price Adjustments of
0200	Overrun - Total			5 7	2020 Jul 16, 2020 Aug 17,	SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96) (\$21,292.95) (\$21,292.95)	quantity on all previous payment estimates. Price Adjustments of
0200	Overrun - Total Total		Overrun - T	5 7	2020 Jul 16, 2020 Aug 17, 2020	SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96) (\$21,292.95) (\$21,292.95) (\$21,292.95)	quantity on all previous payment estimates. Price Adjustments of
0200	Overrun - Total Total		Overrun - T	5 7 otal 4 5	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96) (\$21,292.95) (\$21,292.95) (\$21,292.95) (\$202.75)	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of
0200	Overrun - Total Total		Overrun - T	5 7 otal 4 5	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96) (\$21,292.95) (\$21,292.95) (\$21,292.95) (\$202.75)	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of
0200	Overrun - Total  Total  PAVEMENT MARKING REMOVAL  Overrun - Total		Overrun - T	5 7 otal 4 5	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96) (\$21,292.95) (\$21,292.95) (\$21,292.95) (\$202.75) \$202.75	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of
0200 - 0370	Overrun - Total  Total  PAVEMENT MARKING REMOVAL  Overrun - Total	Overrun	Overrun - T	7  otal  4  5  otal	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$3,055.92) \$3,055.93 (\$21,292.96) (\$21,292.95) (\$21,292.95) (\$21,292.95) (\$202.75) \$202.75	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of
0200 - 0370 -	Overrun - Total  Total  PAVEMENT MARKING REMOVAL  Overrun - Total  Total	Overrun	Overrun - T Overrun Overrun - T	7  otal  4  5  otal	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16, 2020	SYSTEM  SYSTEM  SYSTEM  SYSTEM	(\$3,055.92) \$3,055.93  (\$21,292.96)  (\$21,292.95)  (\$21,292.95)  (\$202.75)  \$202.75  \$0.00  \$0.00	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of
0200 - 0370 -	Overrun - Total  Total  PAVEMENT MARKING REMOVAL  Overrun - Total  Total	Overrun	Overrun - T Overrun Overrun - T	5 7 7 otal 4 5	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Jul 16,	SYSTEM  SYSTEM  SYSTEM  SYSTEM  SYSTEM	(\$3,055.92) \$3,055.93  (\$21,292.96)  (\$21,292.95)  (\$21,292.95)  (\$202.75)  \$202.75  \$0.00  \$0.00  \$0.00  (\$251.43)	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.25000 - 0.25000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of quantity on all previous payment estimates.
0200 - 0370 -	Overrun - Total  Total  PAVEMENT MARKING REMOVAL  Overrun - Total  Total	Overrun	Overrun - T Overrun - T Overrun	5 7 7 otal 4 5	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Jul 16,	SYSTEM  SYSTEM  SYSTEM  SYSTEM  SYSTEM	(\$3,055.92) \$3,055.93  (\$21,292.96)  (\$21,292.95)  (\$21,292.95)  (\$202.75)  \$202.75  \$0.00  \$0.00  \$0.00  (\$251.43)	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.25000 - 0.25000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of quantity on all previous payment estimates.
0200 - 0370 -	Overrun - Total  Total  PAVEMENT MARKING REMOVAL  Overrun - Total  Total  TEMPORARY PAVEMENT MARKING	Overrun	Overrun - T Overrun - T Overrun	5 7 7 otal 4 5	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Jul 16,	SYSTEM  SYSTEM  SYSTEM  SYSTEM  SYSTEM	(\$3,055.92) \$3,055.93  (\$21,292.96)  (\$21,292.95)  (\$21,292.95)  (\$202.75)  \$202.75  \$0.00  \$0.00  \$0.00  \$251.43)  \$251.43	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.25000 - 0.25000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of quantity on all previous payment estimates.
0200 - 0200 - 0370 - 0380	Overrun - Total  Total  PAVEMENT MARKING REMOVAL  Overrun - Total  Total  TEMPORARY PAVEMENT MARKING	Overrun	Overrun - T Overrun - T Overrun	5 7 7 otal 4 5	2020 Jul 16, 2020 Aug 17, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Jul 16,	SYSTEM  SYSTEM  SYSTEM  SYSTEM  SYSTEM	(\$3,055.92) \$3,055.93  (\$21,292.96)  (\$21,292.95)  (\$21,292.95)  (\$202.75)  \$202.75  \$0.00  \$0.00  (\$251.43)  \$251.43	quantity on all previous payment estimates. Price Adjustments of ',62.75000 - 62.75000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.25000 - 0.25000, 'is applied (if non-zero).  Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of quantity on all previous payment estimates.

Revision 4/1/2020 Page 15 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0430	CLASS B-1 CONCRETE (CULVERTS)	Material						overridding Payment Estimate Exception 9 on the current Payment Estimate.
				3	Jun 16, 2020	SYSTEM	(\$12,211.63)	
				3	Jun 16, 2020	SYSTEM	\$12,211.63	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user ellist2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				4	Jul 1, 2020	SYSTEM	(\$42,553.42)	
				4	Jul 1, 2020	SYSTEM	\$42,553.42	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user ellist2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				5	Jul 16, 2020	SYSTEM	(\$42,553.42)	
				5	Jul 16, 2020	SYSTEM	\$42,553.42	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user ellist2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				6	Aug 3, 2020	SYSTEM	(\$42,553.42)	
				6	Aug 3, 2020	SYSTEM	\$42,553.42	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user ellist2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				7	Aug 17, 2020	SYSTEM	(\$42,553.42)	
				7	Aug 17, 2020	SYSTEM	\$42,553.42	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
0.420	Material - Total - Total						\$0.00 \$0.00	
0530	ROCK DITCH CHECK	Overrun	Overrun	7	Aug 17, 2020	SYSTEM	(\$6,454.62)	
			Overrun - T	otal			(\$6,454.62)	
	Overrun - Total						(\$6,454.62)	
0530 -	- Total						(\$6,454.62)	
0540	ALTERNATE DITCH CHECK	Overrun	Overrun	6	Aug 3, 2020	SYSTEM	(\$4,878.00)	
				7	Aug 17, 2020	SYSTEM	(\$9,882.00)	
			Overrun - T	otal			(\$14,760.00)	
	Overrun - Total						(\$14,760.00)	
0540	- Total SILT FENCE	Overrun	Overrun	7	Aug 17, 2020	SYSTEM	(\$14,760.00) (\$2,249.86)	
			Overrun - T	otal	2020		(\$2,249.86)	
	Overrun - Total						(\$2,249.86)	
0560	- Total						(\$2,249.86)	
0570	MGS GUARDRAIL	Construction Stockpile		1	May 18, 2020	SYSTEM	\$5,202.08	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$5,202.08	
	Construction Stockpile - Total						\$5,202.08	
0570 - 0580	- Total MGS BRIDGE APPROACH TRANSITION			1	May 18,	SYSTEM	\$5,202.08 \$4,497.00	Payment Estimate Item Adjustment generated Stockpile
	SECTION (REGULAR/NO CURB)	Stockpile	- Total		2020		\$4,497.00	Transaction
	Construction Stockpile - Total		- Total				\$4,497.00	
0.580	- Total						\$4,497.00	
		Construction		1	May 18,	SYSTEM	\$6,200.00	Payment Estimate Item Adjustment generated Stockpile
0590	MGS BRIDGE APPROACH TRANSITION							

Revision 4/1/2020 Page 16 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0590	(THRIE-BEAM BRIDGE)	Stockpile	. 71-		2020			Transaction
			- Total				\$6,200.00	
	Construction Stockpile - Total						\$6,200.00	
0590 -	Total						\$6,200.00	
0600	BRIDGE ANCHOR SECTION, 6.5 FT. POSTS (SAFETY BARRIER CURB) (ROADWAY AND REHABILITATION WORK ONLY)	Construction Stockpile		1	May 18, 2020	SYSTEM	\$1,029.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$1,029.00	
0000	Construction Stockpile - Total						\$1,029.00	
0600 -		0 1 11			11 10	OVOTEM	\$1,029.00	
0610	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS			1	May 18, 2020	SYSTEM	\$146.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$146.00	
	Construction Stockpile - Total						\$146.00	
0610 -							\$146.00	
0620	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	May 18, 2020	SYSTEM	\$10,570.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$10,570.00	
	Construction Stockpile - Total						\$10,570.00	
0620 -							\$10,570.00	
0630	GUARDRAIL ANCHOR, ROCK FACE	Construction Stockpile		1	May 18, 2020	SYSTEM	\$28.75	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$28.75	
	Construction Stockpile - Total						\$28.75	
0630 -	Total						\$28.75	
0640	U-CHANNEL POST, 3 LB	Construction Stockpile		6	Aug 3, 2020	SYSTEM	\$7,439.04	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$7,439.04	
	Construction Stockpile - Total						\$7,439.04	
0640 -	Total						\$7,439.04	
0650	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		6	Aug 3, 2020	SYSTEM	\$2,485.20	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$2,485.20	
	Construction Stockpile - Total						\$2,485.20	
0650 -								
0670	OLAGO DA COMODETE (OLILVEDTO						\$2,485.20	
	CLASS B-1 CONCRETE (CULVERTS- BRIDGE)	Material		2	Jun 2, 2020	SYSTEM	\$2,485.20 (\$15,732.78)	
		Material		2		SYSTEM		This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		Material			2020 Jun 2,		(\$15,732.78)	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment
		Material		2	2020 Jun 2, 2020 Jun 16,	SYSTEM	(\$15,732.78) \$15,732.78	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment
		Material	- Total	2	Jun 2, 2020 Jun 16, 2020 Jun 16,	SYSTEM	(\$15,732.78) \$15,732.78 (\$15,732.78)	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment
		Material	- Total	2	Jun 2, 2020 Jun 16, 2020 Jun 16,	SYSTEM	(\$15,732.78) \$15,732.78 (\$15,732.78) \$15,732.78	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment
0670 -	BRIDGE)	Material	- Total	2	Jun 2, 2020 Jun 16, 2020 Jun 16,	SYSTEM	(\$15,732.78) \$15,732.78 (\$15,732.78) \$15,732.78	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment
<b>0670</b> - 0690	BRIDGE)		- Total	2	Jun 2, 2020 Jun 16, 2020 Jun 16,	SYSTEM	(\$15,732.78) \$15,732.78 (\$15,732.78) \$15,732.78 \$0.00 \$0.00	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment
	Material - Total  Total  CLASS B-1 CONCRETE (CULVERTS-		- Total	3 3	2020 Jun 2, 2020 Jun 16, 2020 Jun 16, 2020	SYSTEM SYSTEM SYSTEM	(\$15,732.78) \$15,732.78 (\$15,732.78) \$15,732.78 \$0.00 \$0.00	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment
	Material - Total  Total  CLASS B-1 CONCRETE (CULVERTS-		- Total	3 3 3	2020 Jun 2, 2020 Jun 16, 2020 Jun 16, 2020 Jun 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	(\$15,732.78) \$15,732.78 (\$15,732.78) \$15,732.78 \$0.00 \$0.00 \$0.00 (\$31,315.72)	Payment Estimate Item Adjustment (0002) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user ellist2 overridding Payment Estimate Item Adjustment (0005) due to user ellist2 overridding Payment Estimate Exception 11 on the current

Revision 4/1/2020 Page 17 of 20



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
	Description	Type	Adjustment Type		Date	By	Amount	remarks
0690	CLASS B-1 CONCRETE (CULVERTS- BRIDGE)	Material						overridding Payment Estimate Exception 1 on the current Payment Estimate.
				5	Jul 16, 2020	SYSTEM	(\$31,315.72)	
				5	Jul 16, 2020	SYSTEM	\$31,315.72	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				6	Aug 3, 2020	SYSTEM	(\$31,315.72)	
				6	Aug 3, 2020	SYSTEM	\$31,315.72	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				7	Aug 17, 2020	SYSTEM	(\$31,315.72)	
				7	Aug 17, 2020	SYSTEM	\$31,315.72	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0690	- Total						\$0.00	
0720	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	Material		2	Jun 2, 2020	SYSTEM	(\$12,436.39)	
				2	Jun 2, 2020	SYSTEM	\$12,436.39	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				3	Jun 16, 2020	SYSTEM	(\$12,436.39)	
				3	Jun 16, 2020	SYSTEM	\$12,436.39	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user ellist2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0720	- Total						00.00	
0740							\$0.00	
	CLASS B-1 CONCRETE (CULVERTS- BRIDGE)	Material		3	Jun 16, 2020	SYSTEM	(\$13,485.24)	
		Material		3		SYSTEM SYSTEM		This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		Material			2020 Jun 16,		(\$13,485.24)	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment
		Material		3	Jun 16, 2020 Jul 1,	SYSTEM	(\$13,485.24) \$13,485.24	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment
		Material		3	Jul 1, 2020 Jul 1, 2020 Jul 1,	SYSTEM	(\$13,485.24) \$13,485.24 (\$13,485.24)	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment
		Material		4	Jul 1, 2020 Jul 1, 2020 Jul 1, 2020 Jul 16,	SYSTEM SYSTEM	(\$13,485.24) \$13,485.24 (\$13,485.24) \$13,485.24	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment
		Material		4 4 5	2020 Jun 16, 2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$13,485.24) \$13,485.24 (\$13,485.24) \$13,485.24	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment
		Material		3 4 4 5 5	2020 Jun 16, 2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	(\$13,485.24) \$13,485.24 (\$13,485.24) \$13,485.24 (\$13,485.24)	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment
		Material		3 4 4 5 5	2020 Jun 16, 2020  Jul 1, 2020  Jul 1, 2020  Jul 16, 2020  Jul 16, 2020  Aug 3, 2020  Aug 3,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$13,485.24) \$13,485.24 (\$13,485.24) \$13,485.24 (\$13,485.24)	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment
		Material		3 4 4 5 5 6 6	2020 Jun 16, 2020  Jul 1, 2020  Jul 1, 2020  Jul 16, 2020  Jul 16, 2020  Aug 3, 2020  Aug 3, 2020  Aug 17,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$13,485.24) \$13,485.24 (\$13,485.24) \$13,485.24 (\$13,485.24) \$13,485.24	Payment Estimate Item Adjustment (0007) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user ellist2 overridding Payment Estimate Exception 2 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user ellist2 overridding Payment Estimate Exception 1 on the current Payment

Revision 4/1/2020 Page 18 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0740	Material - Total						\$0.00	
0740 -	· Total						\$0.00	
0780	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	SUBI	6	Aug 3, 2020	ellist2	(\$85,000.00)	Both lanes mentioned in NCR 1 and NCR2 are substandard with irregularities per spec 402.10.5.1 amount calculated is 2529.2 tons 21,120' x-20' wide by 1" deep for 35,200 35,000/27 for 1303.7 1303.7 x 1.94 conversion factor in plans = 2529.2 tons line item adjustment intended for materials only of substandard product placement and does not reflect entire dollar amount for tons involved
	SUBI - Total						(\$85,000.00)	
	Other Item Adjustment - Total						(\$85,000.00)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun	Overrun	6	Aug 3, 2020	SYSTEM	(\$2,783.04)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - T	otal			(\$2,783.04)	
	Overrun - Total					(\$2,783.04)		
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		6	Aug 3, 2020	SYSTEM	(\$17,941.01)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$17,941.01)	
0200	Price - Total						(\$17,941.01)	
	Total	0 1 1			11 10	0)/07514	(\$105,724.05)	
0890	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		1	May 18, 2020	SYSTEM	\$2,192.75	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total	6	Aug 3, 2020	SYSTEM	(\$2,192.75)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Construction Stockpile - Total		- Iotai				\$0.00 \$0.00	
0000	· Total						\$0.00	
0900	MGS BRIDGE APPROACH TRANSITION	Construction		1	May 18,	SYSTEM	\$5,996.00	Payment Estimate Item Adjustment generated Stockpile
0900	SECTION (REGULAR/NO CURB)	Stockpile		6	2020 Aug 3,	SYSTEM	(\$5,996.00)	Transaction  Payment Estimate Item Adjustment generated Stockpile
					2020	0.0.2	(\$0,000.00)	Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0900 -	·Total						\$0.00	
0910	MGS END ANCHOR	Construction Stockpile		1	May 18, 2020	SYSTEM	\$535.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				6	Aug 3, 2020	SYSTEM	(\$535.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	0 / 11 0   11 7 / 1	- Total				\$0.00		
0040	Construction Stockpile - Total						\$0.00	
0910 -	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	May 18, 2020	SYSTEM	\$0.00 \$4,530.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	. 2 2. (111/011)			6	Aug 3, 2020	SYSTEM	(\$4,530.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0920 -	Total						\$0.00	
0930	CONCRETE FOOTINGS, EMBEDDED	Material		6	Aug 3, 2020	SYSTEM	(\$180.00)	
				6	Aug 3, 2020	SYSTEM	\$180.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user ellist2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				7	Aug 17, 2020	SYSTEM	(\$180.00)	
				7	Aug 17, 2020	SYSTEM	\$180.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user ellist2 overridding Payment Estimate Exception 5 on the current Payment Estimate.

Revision 4/1/2020 Page 19 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0930		Material	- Total				\$0.00	
	Material - Total						\$0.00	
0930 -	Total						\$0.00	
0940	U-CHANNEL POST, 3 LB	Construction Stockpile		6	Aug 3, 2020	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0940 -	Total						\$0.00	
0950	2.5 IN. PSST POST - 12 GA.	Construction Stockpile		6	Aug 3, 2020	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		- Total				\$0.00		
	Construction Stockpile - Total						\$0.00	
0950 -	Total						\$0.00	
0960	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Construction Stockpile		6	Aug 3, 2020	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0960 -	Total						\$0.00	
0970	SH-FLAT SHEET	Construction Stockpile		6	Aug 3, 2020	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	- Total						\$0.00	
	Construction Stockpile - Total						\$0.00	
0970 -	Total						\$0.00	
0980	SHF-FLAT SHEET FLUORESCENT Construction Stockpile	Construction Stockpile		6	Aug 3, 2020	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0980 -	Total						\$0.00	
5004	18 IN. PIPE GROUP B	Overrun	Overrun	4	Jul 1, 2020	SYSTEM	(\$995.40)	
				5	Jul 16, 2020	SYSTEM	\$995.40	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',165.90000 - 165.90000, 'is applied (if non-zero).
	Overrun - Total						\$0.00	
	Overrun - Total						\$0.00	
5004 -	Total						\$0.00	
Overa	II - Total					(\$164,671.64)		

Revision 4/1/2020 Page 20 of 20